FIRST TERM GLOBAL TEST
4° ESO

Exercise 1: (2.75 ptos) Work out:

VT-\B _5-421

a) il 2 (0.75)
b) 7(x—2)+1324x-5(3-2x) — xe(-w2] 0.75)
o f2x+34+x+2=2 = x=-1 (1.25)

Exercise 2: (2.25 ptos) Work out:
x+2y=7 ] x=-3, =5
o

al . . 1
}x*—zy‘:—ﬂ x=—11 y=9 (1)
—9x+14 <0

) ) - xe[4.7) (1.25)
16-x" <0

Exercise 3: [1.5 ptos) The product of two numbers is thirty, and the difference of their squares is
ninety-one. Find them. Please.  The numbers are 10 and 3 or -10 and -3

Exercise 4: (1.25 ptos) Given the polynomial P(x) = ax” + bx—1 find the values of @ and & so that:
-) When we divide it by (x—1) the remainderis7

-} When we divide it by {_x+2} the remainderis —11 a=L b=7

Exercise 5: (2.25 ptos) Work out and simplify if possible:

x'-10x"+9 x-3
x'—6x+9 x -1

=x+3 (1)

x+4+ X +5x _x—l_xl+5x—12
x+2 x'-2¥-8 x—4 x*-2x-8

b) (1.25)
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